MONDAY

1.20% of €50=€

2.254%x 3=

3. Colour 80%.

4.999,992 + 9=

5. Jeans cost €30. There is 10% off. The new price is
€.
6.189,001-7=____

7. Write the numeral one million.

85 —Fs.
9545%x2=___

10.10% of €100 =€

11.5)6.005=____
12.€100.00 —€20.50 = €

1 15. 55 = %

16.3.00x003=__

17. Draw a 180° turn anticlockwise.

B

18. odd + even =

19.007+02=____
20. What is the diameter and side length of the square?

am

o)
Y
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TUESDAY

1.50% of €50.00=€
2.999,993 + 8 =
3.224+16+16+34=_____

4.392%38 = _nrnonine
5. 10300 =
6.268,808 - 10 =

7. Write the numeral one million one hundred.

8. Draw a 270° turn clockwise,

B

9. What 3-D shape has 4 triangles?

10.even +even=____

11.€100.00 —-€40.50 =€ _

1l%=£;=
L12]
13. Which set has multiples of 3 and 4?
[19,12,16 | 1812,16
| 112,24,36 | 118,24,36

14.5.402 + 6.253 + /314 = _
15. Write in ascending order.
7 0.07

70 0.7

17.5% =

100]

18. Simon has 48 toy cars. He gives 5 to Ahmed. How
many does Simon have left?

19.5+5====
5

20. Perimeter of a rectangular building 50 m by 45 m

— S i

New \Wave Mental Maths 95

Z€ AS3M




‘ “ \WEDNESDAY THURSDAY

I o~y 1-10% ofElf=t . .. 1.5%0of€50=€___
i < 2. If you ride your bike for a quarter of an hour and 2. Draw a net of a triangular prism.
‘| 3 travel 4 km, how far will you ride in 2 hours? : ~
i 3. An isosceles triangle has . equal sides.
2,2 _ _
4.35+3= h 3. The number before 1,010,000 = 1
5.even—odd=__ 4.2 of 48 = 7
e 5.999,996 + 7 =
7. The number after 1,001,999is . 6.63-9=70= B
8.€100.00-€8050=€__ 732= o
I
| 9. Stacey has €12, John has €15 and Karen has €18, 8. Jumpers cost €40, There is 25% off
| How much altogether? Write as a number sentence.
| | € B c - ¢ The new priceis€ | |
51 7
—E 9.50
10. This is a . Ej 10. Write in descending order. '
3m : 3.3 .
MAea=_____m E 3 6m 3¢ 63 0.05
(Al =
12. % = (mixed number) | e '
i 3 3
M"M.w-%=— |
S . |
13. What is the value of 12. Colour-:
3 x€50,3 x€20,3 x€10and 3 x €27
£ 13.100450 =

14. 100,800 -+-60xd 0= 14. What shape is this?

This timetable shows daily trains from Waterford to Dublin.

| Train | Departs Waterford ' Arrives Dublin |
A 08:00 11:05 O
i 10:25 13:30

15:00 18:1__(_)
19:30 ’ 1755

oiNni@m

15. There are 6 apples in each bag. There are 10 bags.
How many apples altogether?

15. How long does Train A take? I -

16. Which train takes 3 hours 10 minutes? ~ _______ 16.5x 7 x 200 =

17. Which train leaves Waterford at 3 p.m.7 — i tpis

18. Which train arrives in Dublin at 1.30 p.m.?

- 18.995,000 + 100,000 = -

19. You need to be in Dublin by 3.30 p.m. 19, 15,000 — 6,500 =

Which train should you take? S
20. What is the place value of the 8 in 7.8?

20. You need to be in Dublin by 5.30 p.m.
Does Train C get you there on time? B
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PROBLEM-SOLVING

Monday

. A flight from Dublin to Paris, one way, cost
€150. The return flight cost an additional €250.
What was the total cost of Dublin — Paris —
Dublin for a family of 47

€

. Sam baked 3 cakes with a total of 16 corners.
What 2-D shapes could there have been?

Tuesday
. Draw the 6th row.

(1O o
(OO mon
CEOOO0 swen
EREReELE

. An Olympic swimmer completed a 5-km
morning session in a 50-m pool. How many
laps in total?

Wednesday

. A group of 200 pupils were surveyed.

How many preferred spring? 5th Class
Favourite Seasons

- How many liked summer and

winter? ww

Thursday

- Hugo shone his torch in the dark to see what
time it was. Write the time in 24-hour format.

o hours

2. What 4 coins can be used to make €2.907

— " . and

978-1-92096-243-2

- 990,000 + 100,000

FRIDAY REVIEW

1. 20% of €60

=€

. 5th Class has 32 pupils.

How many like funny
books?

5th Class
Favaurite Bo_qk Genres

!";Comedyf
e

Fantasy \
Science /

. Colour 60%.

100400 =

. Which set has multiples

of 4 and 67

112,16, 18
L 112,18, 24
L 112,24, 36
L 112, 16,28

. The place value of the 3 in

23

+ 100 =508 e

. There are 15 sweets

in a packet. There are
5 packets. How many
sweets altogether?
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14. If you bought 2 L of milk

at 90c per 500 mL, how
much would it cost?

.

.3.412 + 2,035 + 1.432

63
00 = - %

. Write the numeral one

million, one hundred and
one.

DOx9I%x20=__

. Write in ascending order.

9 0.09 09 0.19

i

A25x5=

. Thisis a Q

mZ
3m
=
9m ) g‘

12m

. Perimeter = __

. Draw a 90° turn

clockwise.

= b

.2 = (mixed number)
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